| Efficiency vs Dxy |
.05
S S N N T N T T
]

T e o
o S T N T T T
e A A 0 S A
© Foo : : : : : : : :
[0 el S S AR A S S S A
0028 i
002— ------- e # ------- ot
e
L A o
R R T 1 O O
.QJ“l.QEIIII:IIII:IIII:IIII:III:IIII:IIII:IIII:IIII:IIII
©

D: l__ ........................................................................
0.955— ---------------------------------------------------------------------

0 E50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TTbhase

| Efficiency vs Dz |

—— DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP

N O.1p

o F : : : " :
D09t s s L
2 F i i i ; :

P OBt
@) r : : : . .
.07 P e rorneree R R
= 5 5 5 5 5
0,06
o e |

O
0.08F e [t -tk | :

0.02

0.01

INURUURURUUEURURURRUR Dot | N IS U 1 U 0 O 1 Ut SURsaR

10 2030
TP dz (cm)



	Contents
	Page 1


